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QNo:- 97 ,Correct Answer:- A

Explanation:- A travel 2rir = 601

B travel 2rtr = 80m

So LCM = 240m

That means A travel for 4 revolution and B travel for 3 revolution.
We need gap of 5000 revolution

So B will travel 5000 x 240m cm distance in 45 min
So speed = 5000 x 240rmt / 45cm / min

To convert cm into km

1 km = 1000m and T m = 100cm

So, 1T km = 100000cm,

So Tcm = 107°km

And 60 min = 1 hour

60
45 100000

So, speed = 5000 2407 =167

QNo:- 98 ,Correct Answer:- 3920

Explanation:- We want to go to (1, 1) to (8, 10) through (4, 6)
So, first we will go to (1, 1) to (4, 6) and then (4, 6) to (8, 10)
1

So from (1, 1) to (4, 6) we have 5+ 3 =8 ways = i=5d5

5131
And from (4, 6) to (8, 10) we have 4 + 4 = 8 ways
I
So, i =70
4141

So, total 56 x 70 = 3920 ways

QNo:- 99 ,Correct Answer:- D

Explanation:- 2(19/2+4+3n)y 3(4+2m) _ 5(3/2+4m) . 3(n)
Comparing powers of 2 and 3 in LHS and RHS
3n+12=4m

4m-3n=12

And

4+2m =n

2m—-n=-4

Solving both

n=-20andm =-12

QNo:- 100 ,Correct Answer:- A

Explanation:- Population in 2019 = 1000

Population in 2020 = 1000x 2 +3 = 2003 = (1003) x 2-3

Population in 2027 = 2 x 2003 + 3 = 4009 = 4 x (1003) - 3 = 22 (1003) - 3
Population in 2022 = 2(4009) + 3 = 8021 = 8(1003) - 3 = 23(1003) -3

.. we can see that population in 2034 is 2% (1003) - 3
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